Problema J131. Let P be a point inside a triangle ABC and let dg, dp,
d. be the distances from point P to the triangle’s sides. Prove that

doh? + dyh? + deh? > (dg + dy + d.)?

where hg, hy, he are the altitudes of the triangle.

Proposed by Magkos Athanasios, Kozani, Greece
Solution by Ercole Suppa, Teramo, Italy

By denoting with A be the area of AABC, we have
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By using the Holder’s inequality
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we get
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From (1) and (2) it follows that
1
do +dy + de < (doh? + dyhi + d.h?2)® =
(do + dy + de)® < dyh? + dyh? + d h?
and we are done. 0



